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1 What is the unit of susceptance? | HAGAT Thdb BT 31Te?
A Mho |

B Ohm | 31gH

C Henry | R

D Farad | 4TS

Answer: A

2 What is the resistance of the inductive coil takes 5A
current across 240V, 50Hz supply at 0.8 power factor? |
Esfcréeg Pigetal 240V Hed 5A & 8d, 0.8 Ul ek
50Hz QRIST 3Te R UdTe4 fopdt ?

A48 0Q

B 425 Q)

C3840

D 26.6 Q

Answer: B

3 How the resonance frequency (fr) can be increased in
A.C series circuit? | A.C ATfcicT Afdhered 3ATE aRaRaT
(fr) ®2it areaar Aa

A Increasing the inductance value | SSde~H {cd dIéqul
B Reducing the capacitance value | BUfEcH qe BHI
G|

C Increasing the capacitance value | 5Uffc~H Heg areaul
D Increasing the value of resistance | UfdbR e
qrequl

Answer: B

4 What is the formula to find 3 phase Reactive power
(PR) if the line voltage is VL and line current is IL? | 3R
TS leesT VL 318 371107 eTe e 1L 318l @R 3 st
REfdReE Uler (PR) LTI FF B 3778?

APr=VLIL

BPr=3VLIL Cos ¢

CPr=+3VLILSin¢$

DPr=+/3VLILCos ¢

Answer: C

5 What is the main cause for below 0.5 lagging power
factor in 3 phase system? | 3 U371 fGTeHAEA 0.5 Tef wHt
YiaR theed H& BRUT P 37Te?

A Due to fluctuation of voltage | @IeesTT TG3ARTHD
B True power due to resistive load | Ufd?1erb HRTH W<t
2reht

C Reactive power due to more inductive load | 31ftid
b HRTHSS Ufdfshaneitet 2reht

D Reactive power due to more capacitive load | 31f&i&

Fifafe cieys vfafmarie ot

Answer: C

6 What is the current in neutral conductor in 3 phase
unbalanced load in star connected system? | dRT
SISciedT UUTTetAed 3 BT 3rdfeid clisHe Jgel hSdeiHEd
®ic fodt 3me?

A No current will flow | ATé} &< dTEUTR

B The algebraic sum of current in 3 phases | §lsPTfUidTa
YaTeTeit k151 3 sl Hed

C The algebraic sum of current in 2 phases only |
disPTfvidta werere k151 Beb 2 %51 wed

D Lesser than the lowest current in any one of the

phases | BIUTTE! Tl Us3Td el Tafd BHT TTETAET BHT

Answer: D

7 Calculate the apparent power in KVA of 3 phase 415V,
50 Hz, star system, if the line current (IL) is 16A at 0.8
power factor. | 3 %37 415V, 50 Hz, TR fG&dH=aT KVA
HEffeT TE Bt 0T B, R 18T B (IL) 16A, 0.8 UlcR
TheeeR 3 el

A 15.2 KVA

B 11.5 KVA

C9.2 KVA

D 5.3 KVA

Answer: B
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8 What will be the readings of two watt meters (W1&
W?2) in 3 phase power measurement, if the power factor
is zero? | UTeR Wk [ T 3 W51 UlaR HIUAHE S
de Htez (W1 31for w2) & A3 BT 3der?

A W1 & W2 both are positive reading | W1 31TfoT W2 Gi&t
A R 3mea

B W1 is Positive and W2 is negative reading | W1
YPBRIHD 378 30T W2 ABRIHE dTeH 378

C W1is equal to W2 but with opposite signs | W18 W2
T Rkt gl fasg faeiae

D Zero W1 is Positive reading, and W2 is negative
reading | R W18 HPBRIcHD e 31Te 3101 W2 8
BRI dTeH 38

Answer: C

9 What is the maximum value of voltage for 240 volt
RMS? | 240 e RMS ATt leesTd BHTe oo fbdl 3mme?
A 240V

B 415V

C 339.5V

D 376.8V

Answer: C

10 Not Available

1 What is the formula for Reactive Power (Pr) in an AC
circuit? | AC Tfdbened) REfaeeg UTer (Pr) & G B 3MTe?
APr=VI

BPr=+/2VI

CPr=Vlcos 6

D Pr=Vlsin 6

Answer: D

12 Calculate the impedance of the circuit R =50, XL=
360 and XC = 24 Q. | gfdse R = 5Q, XL= 36Q 30T XC = 24
Q =1 yfqEraTt 70T B

R

— |
L 1]

0V B H

A69 0
B 65 ()
C13Q
D12Q
Answer: C

13 What is the phase displacement in a single phase AC
circuit? | f&TeT a1 vt afbened U1 foeiade o Brr?
A 90°

B 120°

C180°

D 270°

Answer: A

14 What is the relation between the line voltage (VL)
and phase voltage (Vp) in star connected system? | &€R
SscedT YT HED dTed @leest (VL) 31f0T %1 @leesT (Vp)
IiATd B Heel 3Te?

A VL=/3VP

BVL=3VP

CVL=VP/\/[3

DVL=VP/3

Answer: A

15 Calculate the line current of the 3 phase 415V 50 HZ
supply for the balanced load of 3000 watt at 0.8 power
factor is connected in star. | @R 7ed 0.8 UTaR Bae
SISeicdT 3000 deeAT ddfeid cilsdTa! 3 BT 415V 50 HZ
RASATAT AT Biedt VAT .

A85A

B52A

C45A

D34A

Answer: B
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16 What is the power factor in a 3 phase power
measurement of two wattmeters showing equal
readings? | 9T {3 geffaum=ar €7 derftez=ar 3 %1 Ui
HIYAHER UTaR thae? BTy 3Te?

AO

B1

co5

Do.8

Answer: B

17 Calculate the power factor of coil having resistance of
24(), draws the current of 5A, at 240V/ 50HZ AC supply.
| 240 UfABR FTAT BISAAT UTdR Weeet 0T &,
240V/ 50HZ AC RASITR 5A T YdTe.

A 0.8

B 0.6

Cco5

DO0.3

Answer: C

18 What is the formula to calculate the impedance (Z) of
the R.L.C series circuit, if the inductive reactance (XL) is
less than capacitive reactance (XC)? | 3R WRab 31fHfehar
(XL) Bafafeee REae~a (XC) Bef wHt 3 @R R.L.C ATfd®T
Tfdbeea wfaamen (2) =t TUHT FRUITETS BIvTd A 31T8?

AZ=R*+ /XL2+X§

BZ =.R2+ (X, — X;)?
CZ=RZ+ (X? — X()?
DZ=.R2+ (X; — X,)?
Answer: D

19 Calculate the power factor of R.L.C circuit having
resistance (R) = 15W, resultant reactance (X) = 20W
connected across 240V /50Hz AC supply? | 33T (R) =
15W, gRuTTHt ufdfsar (X) = 20W 240V/50Hz AC JRa&TeR
SsAedT R.L.C Afdheean ufar taee T drT?

A 05

B 0.6

co07

D 0.8
Answer: B

20 Calculate the value admittance (Y) of the RLC parallel
circuit connected across 240volts/50Hz AC supply and 8
Amp. Current is passed through it ? | 240volts/50Hz AC
TRST 10T 8 Amp faE[dvaTe @R silseied RLC AHIGR
Tfdhe=an qeo Tsfig~a (Y) TOMT 6.

A 3.33 Mho

B 0.33 Mho

C 0.033 Mho

D 0.003 Mho

Answer: C

21 What is the formula to calculate the line current (IL)
of this single phase R - C parallel circuit? | a7 f87TeT BT R
- C gHicR fchezan I ¥aTe (IL) AI5vara G R ATe?

R

k e

o DR =

AILZIR_IC
BIL=IR+IC
Cl, =% +1°

DI, = /1R2 + 1.2

Answer: D

22 How the low power factor (P.F) can be improved in
AC circuits? | AC Tfdheqmed ot UTeR WaeR (P.F) T
FuRar Aser?

A By connecting resistors in series | Hifcidd WfaRIed
Sigd

B By connecting capacitors in series | ATfeiddlel pufdel
PG BH

C By connecting inductors in series | ATfcidbdlct ssaed

EIEGH

a
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D By connecting capacitors in parallel | THidR Aed
PUMAR BAR &7

Answer: D
23 Not Available

24 What is the relation between the line current (IL) and
phase current (IP) in delta connected system? | 32T
PAaes [Gedaaete areT @<e (IL) 31foT %t Bie (IP) Tiard
P HeY 37Te?

AlL=1P

BIL=31IP

CIL=+/31IP

DIL=IP/+/f3

Answer: C

25 What is the purpose of phase sequence meter? | %31
e e 3a20 b1 3178?

A To control the speed of 3 phase motor 3 3T HieZaT AT
Fdfaa sroararst

B To protect motor against short circuit fault 2ITé Tfhe
icCUIYH AlcTd TR&IUT BRUITHIST

C To indicate the incorrect phase sequence of 3 phase 3
5T epiel BT A eRiquaTdTat

D To ensure the correct phase sequence of 3 phase

system 3 W1 TGEH=IT AT UsT W Gfifgd Boararst

Answer: D

26 Calculate the apparent power of a star connected 3
phase load, if it is connected across 3 phase
415volt/50Hz supply at 0.8 p.f and the phase current is
10 Amps. | dRRM STscieaT 3 BT cllsTT WE Ahiet TOMET
P, SR d 3 BT 415 1ee/50Hz GRasT 0.8 p.f R 5iseied
319 31707 B3t e 10 Amps 3.

A 12.45 KVA

B 57.50 KVA

C3.320 KVA

D 7.188 KVA

Answer: D

27 What is the P.F if one of the wattmeters reading is
zero and the other reads total power in 2 wattmeter
method of 3 phase power measurement? | 3 U531 U1
2 GicHIeR UgdHed Tab dieHter S =T 3re 3110t ga=am
THUT YR {5 deard P.F febdt 3mme?

A 0S5

B Zero [

C Unity Tddl

D Below 0.5 0.5 =T dTcit

Answer: A

28 What is the formula for form factor(Kf)? | tIH thael

(Kf)) HT8t G BT 3Te?
Average value sl qer
RMS value RMS ge=
RMS value RMS ge
Average value wradqer
Maximumvalue st ger,
C Kf = |
Average value @i ger
RMS value RMS &1
D Kf = -
Maximumvalue e ger
Answer: A

29 Which electrical term is defined as the total
opposition to current in AC parallel circuit? | T8t THiaR
Tfdbereite faeld yaTerar egpuT faiy Fv biurdt fagd dsT
qRHTSA Peit 5TTd?

A Resistance | IG&~g

B Impedance | /5~

C Admittance | Usfde~

D Susceptance | T8~

Answer: C

30 Which AC circuit contains the phase relation
between voltage (V) and current (1)? | BIUTAT AC
Afbered @esT (V) 30T e (1) Hefter T Teie 3me?

£l
w| 7
- NN\ -
_ N4

A Pure resistive circuit | 2[g Ifa¥erd afde
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B Resistance and inductance circuit | Ifgice~g 3mfot
$sae Afde

C Resistance and capacitance circuit | 3fgi%e~g 3ot
Foffeg afdbe

D Resistance, inductance and capacitance circuit |
fSiEey, $sae~ 3ot Huffe~y afbe

Answer: B

311In a 3 phase system, if the active power is 4 kw and
the apparent power is 5 KVA, calculate the reactive

power? | 3 BT UUTTGTtAER, Afdha Acht 4 kw 31f0T 383 2r<ht
5 KVA 3190, ufdafdharcad rahlet ToMHT &1?

A 1KVAR

B 2 KVAR

C 3 KVAR

D 4 KVAR

Answer: C

32 In which condition resonance will occur in R-LC series
circuit? | BiuTeaT fEddtd R-LC AIfcidT Afdberedt 3G
HEGE

A Inductive reactance (XL) is zero | $3faeee REfaee (XL)
[ 318

B Inductive reactance (XL) is equal to capacitive
reactance (XC) | $sfaeee REfaee (XL) € Bufdfée Reae~
(XC) Tae 31me

C Inductive reactance (XL) is greater than capacitive
reactance (XC) | ssfdeee REfaee (XL) ® Hafdfées Reae~
(XC) TefT {1 318

D Inductive reactance (XL) is less than capacitive
reactance (XC) | §sfacce REfaeeE (XL) & Bafafie Reae~
(XC) TefT Bt 31T

Answer: B

33 How will you obtain positive reading in the
wattmeter reads negative reading during 3- phase two
wattmeter method? | 3-Ws ¢ dicHIR Ugdined qret
qicHIR {3 RIS RE ALl PRI RET B4
fAosarer?

A By interchanging the connections of input terminals |
e cfHeaedT BAaed seaTdad BoT

B By disconnecting the connection of current coil in
meter | Hicaeftel adHM Biserd BAaeM WfEd B

C By reversing the connection of pressure coil in meter |
HieaefteT ST Blscrd BAdRM 301 BH

D By reversing the pressure coil and current coil
connection in meter | HeIweA €19 Bisdl HTI0T A Bisel
BAFR 3¢ BHA

Answer: C

34 What is the form factor (Kf) for sinusoidal AC? |
qreTaIssa Tl aret Bid thae (Kf) BT 3T8?

A1

B 11

C222

D 4.44

Answer: B

35 What is the reciprocal of inductance in AC parallel
circuit? | AC GHTaR Afbered) Ssae~Tar ATWIGa BT 3me?
A Reactance | RBqe~T

B Admittance | TsfAc~a

C Conductance | dsde~

D Susceptance | 998~

Answer: D

36 What relationship is illustrated in between the
current and voltage? | fag[d yare 3ol @eest AT
PBIUTT e gRffdar 3me?

| X7

A Current and voltage are “in phase” | &3¢ 3107 @l
B Current and voltage are in out of phase | &< 3foi
@S] BaTedT dTeR ATed
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C Current lags behind the voltage | &{c @esTaT AP
318

D Current leads ahead of the voltage | #¢ @leesTeAT 48
Answer: A

37 Calculate the total power by two wattmeter (W1 &
W2) method, if one of the wattmeter (W2) reading is
taken after reversing. | G deHteR (W1 3Tf0T W2) Ugidia
TEHUT YiaRet IUMT a1, 3R atedter (W2) RfSmidt v
AW1x2

B W1 only | W1%th

CW1-W2

D W1+ W2

Answer: C

38 In which 3 phase system, the artificial neutral is
required to measure the phase voltage? | BT 3 B3l
aEened U1 EleesT HISTUATETS! BiAH el ATaTd 3Te?
A 3 wire star connected system | 3 dRR &R Fgacit
Yot

B 4 wire star connected system | 4 @R &R F13clcit HOTTei!
C 3 wire delta connected system | 3 IRR 3¢2T BAdes
fawen

D 4 wire delta connected system | 4 IRR 3¢TT BAdes
fawen

Answer: C

39 What is the line voltage in 3 phase system if the
phase voltage is 240V? | %31 @leesT 240V 31T 3 3T
&R oTe @leest fobdt 3mme?

A 380 Volt

B 400 Volt

C 415 Volt

D 440 Volt

Answer: C

40 Which formula is used to calculate Form factor (Kf)? |

BiH thae? (Kf) HISTUGTHTST BIUTd 3 dTiRet STTd?

__ Effective value ywret gy

A Kf - Average value Wi e
Average value s g
B Kf = -
Ef fective value e ge
Ef fective value &t ger
C Kf = -
Maximumvalue A qer
Average value st ger
Maximumvalue st geer
Answer: A

41 Which formula is used to calculate the impedance (z)

of a RLC series circuit? | RLC HTfcicT Gfchear Ufaamen (2)
Tl IUHT BUATHTST BIUTd G IT0ReA 57Td?

A Z=R2+(xL~ Xc)2

B Z=\/R2 + (xL~ xc)

CZ=/R + (xL~ xc)

D Z= \/R2 + (xL~ xc)2

Answer: D

42 What is the power factor if one of the wattmeter
gives negative reading in two wattmeter method of 3
phase power measurement? | 3 %31 UTaR HIUATAT G
dicHIeR UgdiHed) aicHlcRdd! ThM AbRIcAd RENT feeamra
YR thaeR BT 3Te?

AO

B 0.5

C Unity [Caa

D Less than 0.5 | 0.5 U&{T &Ht

Answer: D

43 What is the phase displacement between phases in a
3-phase circuit? | 3-%5 Gfbertitet eoimefier b1 fazemuT
U BRI?

A 90°

B 120°

C180°

D 360°

Answer: B
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44 Which condition is called as resonance RLC circuit? |
BT eIt AT RLC Tfdhe FeuTdra?

A XL > XC

B XC > XL

CXL=XC

DR<XL

Answer: C

45 Which quantity is rotating at a constant angular
velocity? | BYUTd THTOT 2R I A fosea 3mme?

A Scalar quantity | ThelR THTOT

B Vector quantity | dae JHTOT

C Phasor quantity | Phasor YHTOT

D Algebraic quantity | StsPTiOTdTT THTOT

Answer: C

=475 CBT Full Mock |
15t Year 1€St Series

Electrician Trade

wa (D TT+WCS+ED,.
N ING

— |

Q CSTA Lounchped o pownload App from 5 Play Store
© Open Mind Guruji

Download App
CSTA Launchpad > T
© Open Mind Guruji Google Play

Subscribe YouTube Channel

© 0pen Mind Guruji

Page | 7


https://play.google.com/store/apps/details?id=com.cstalaunchpad.main.app

